Reactance and Resonance
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Phasor Superposition b fegancies = A sppie
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Wealon) Find v (?) for v, () = 10cos(wt) + 10cos(2wt) + 10cos(0.5wz)
and ® = 27100 kHz, R=10 Q, L = 10 uH, and C =253 nF
Decf2A)
ool ¢ ; o= ek | ez 107 2n2okHe -
We® 70 Zﬂ“i';“’%:/;/ v o 2P - Vo [ \b, 0% o7
— — L} A . h = ‘s o
P S G B T WAL SRl
e L
?\ 957\@
Hre=loh ’ 1T H tov
N Vo L1t &\
e | | SR
—_ o
J o 2 AP | V= 03 B-43
6ot —— = OB V, =\ = {lo&o -
B2 e ik l = r%/,_i‘h. | "3
- — dss Oeos(ot Ny 7 0T ea( 2ot =43

HOE onzm(os:»’r rE”)

THE UNIVERSITY OF [r=—y

TENNESSEE B |

KNOXVILLE



Example: WPT Problem "’Mﬂ’lwsv\(mm‘mﬁ%t) Lo
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